Efficiency vs dr [ fake+duplicates vs AR |

x 08 x 05
< <
2 07 £0.45
g £ 04
o 0.6 <
) $0.35
5 IS
o 0.5 S 03
s
0.4 50.25
$
0.2 0.15]
' 0.
01 0.05
o o 0
= ep r-phasel-newgeom
© 4 M plerCPETempTate step2_ttbar-phasel-newgeom
o M_pixelCPETemplateCutChiSquarel5_step2_ttbar- ﬁhasel newgeom
L M plerCPETempIateCutChlSquareS Step2_ftbar-phasel. newgeom test
- . ] IR
2 : A4 0.8 !
107 1072 10 o 10‘3 10’2 10 1
TP min AR track min AR
[ Efficiency vs dr (track,jet) | [ fake+duplicates vs AR(track, jet) |
EO'S R Poonobriin T 8
&"0.45 _50.09
T 04 So.08
x
20.35 <0.07
9 2
203 20.06
K] =
S ©
o =
%0 .25 $0.05
0.2 <0.04
0.15] _%—0.03
0.1 £0.02
0.05 £0.04
o O o 0
T 4 g 1
@ x 0.9
2 0.8
e — " 0.7
10°° 1072 107 10°°

AR(TP, jét)

Efficiency vs pu [ fake+duplicates vs PU |

20'55 : : : : : : 20'5
S A S 20.45
L e e I T
§035;— ----- " §-+-+-+-+;+-n§,+-;+;;,-+-§;+-f}{{-g -------- bended 2035
O 03f it iddif 8 03
IR S “‘*ﬁ -------- %o.zs
ool g
T T IRStIEs SR LT SO S 0.15
R IE ERTIS SES SOCESS SOttt 04
T
o | |...|...|.
PP g
S0 O B 1
2072060 B0 100 120 140 03520 60" 80 100 120 140

Pileup Pileup



	Contents
	Page 1


